
Fobuory 10, 2004

Instc;llq,ti,orl, cltidp 2004-c GMC CANYON/CHEVY COLORADO ho&tnt No.
?t  59

OTY. DESCRIPTION
1 GloStep #2159-D (Drivere Side)
t clostep f2159-P (Possenger Side)
2 Step Pods
2 Foom Tope Strips
E Flot Plotes f,FL94
I M8 Blind Hole Nut
I MB x 5,/4' Bolt

OTY. DESCRIPTION
8 Anglod Strops f,ASOt
6 Step Supports #3124F

32 5/16' x 3/4- t{oshor Heod Botts
32 5/16'Wosher Heod Nuts
16 {1+ x 3/a' Self Driiling Screws (SHoRr)
6 #12 x 1-'l/4' Solf Orilting Screws

With Rubber Woshers (LONG)

INSTALLATION
PARTS LIST:

T0OLS REOUIRED: 5,/16' DRILL | 1/2' HU SOCKET i 1,/2' WRENCH t 5,/16' NUf DRTVER I J,/E' NUT DRTVER

SOME DRILIING INTO THE BODY IS REQUIRED
l. Prbr to polntlg. fit your qoSrpc to h. body.A good fit is occomplished when moting surfoces fit with minimun

light gops. Note: Vehicle bodies hove voriotions ond o perfect fit moy not be possible.

2. Polnung your ChSt pc. To insure o proper point finish. use o top quolity outo point system ond follow the
monufobturers instrubtions. Your GloStops should be sonded ond primod beforo 

-pointind.

5. llcoaun from the trheel w€ll. bock to the dimensions shown obove,
Mork these brocket locotion centers. Note: Steel plotes hove been
inserted under fibergloss to mount brockets.Doubb c*rcck 1or,rr mortr
to bc aurr thcy llnc up lth !!!_4 ptlt!! bcforu drfllinj. Aro
th.rr ort mony hob!, IJSE THE RGHf ONEST

5. Cleon surfoce prior to ottoching
top6 ond 3tsp pods with
denqtured olcohol. Apply foom
tops to top lip of boord.
Position step pod on stepping
surfoce. Peel off tooe bockino
storting with the reir strip. 

-

Kcap pod in position, peel off
bocking then opply pressure
to top 9f pod to stick tope to
boord. Continue obove steos
for oll topo strips,

E E

4. Insert o blindnut into the foctory holes ot
the locotions shown obove. Attoch o AS01
bent tob qt eoch rivnut locotion, now ottoch
o Fl-94 to the bent tqbs. Drill o 5/16'
hole through the pinch weld ot eoch flot
brocket locotion. lined up wlth the hole
in the brocket.

7. Moke sure your GloSeps ore lwel,
tighten oll bolts to 18 foot pounds.
Do not overtighten the sheet metol
screws. he eheet metol is thin.
Ilo not orurUghtan.

tN260
oI{ENS PROOICIs.l000 PROCRESS SIREFSIURGE. l{l 49091.616-651-2J{rOqOl.l.-FREE: Eq)-726-9J57.FP(:616-61i1 9J26.lvB:m.wcn!-po.om

6. Position step on brockets ond Usht to
truck bodv, Scrcw steo to truck 

-with

I12 x 1:1/4' sptf-diitting screws with
rubber woshers (LONG), throe por side.
Secure step support brockct to bottom of
GloStep)- using-tlo |l+ x S/+' self-drilling
screws (SHOK[) per brockct. Ropeot for oll
Brockets. DO NOT USE LONG SEIF TAPPERS
UNDER THE BOARD!

0 2 / 1 o / 0 4

Front $/hcel
WelllMud

tE' J4- 56- 76'

ffi'
Hold tab of Inpull Nut as
shown above and insert
into pre-drilled hole.

Pulltab toward you (Slighfly
upward). Then bend down
the tab.

Position an article to be
fastened and fasten it with
a bolt.


